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2.

8a?b? x 2a*b + (—2a?b)? x 3a*bh® = 15| o} AH?

@D -3a2p? @ 3a%b? @’—6(1%2
@ 6a2b> ® -8a%b?

B

8a?b? x 2a*b + (—2a?b)? x 3a*b?

) x 3a*b?

1
— 27,2 2
= 8a%b* x 2a%b X (-8a6b3

= —6a°b?




©4x2—|—4x—|—1 @ 4x? —4x+1

@ 2x2—4x+1 ® 4x2+2x+1

® 2x2 +4x+1

(2x+1)2 = (2x)2 +2x2xx 1412
=4x>+4x+1




4. 8x-2y+2=4x-y-3 & o, 2x -3y + 1 = x o T3t 4
LFEFLH?

D -10x+16 @—mx— 14 ® 12x+16

@ 10x-14 ® 10x-16

B

8x—2y+2=4x-y—-3°]02 y=4x+ 50|},
2x—3y+1=2x—-3(4x+5)+1
=2x—-12x-15+1
=—-10x-14




5.

x4ay=12 b7} (1,-1) & W, a 9] §h2?

® -2 @ -1 @0 @ 1

x=1,y=-12 x+ay=1° 4t




2] 0] B A 3x+2y = 20 ©] (a,1), (2,6) 5 A W, a+b 2] 727

® 1 @ 5 ® 7 @9  Ou

(a,1), (2,b)E 3x+ 2y =20 o HY5IH,
3a+2=20..a=6
6+2b=20..b="T7
La+b=6+7=13




7.

0.4x+0.5y=1.1

SERE Ry {2 &z
?(2x+y)=2
® (-4, —1) @ (-4, 1) @ (-1, 3)
@@ -1 ® (4, 1)
B
04x+05y=11 ---@
{%(2x+y)=2 O
DO x10, @ x 7 54,
{4x+5y=11---®
dx+2y=14---@
®-@E 34,

x=4, y=-10°]|t},




@2x>5

@ 3x-x+2

(@)9>—2

® a-5=4

@ 4x+1=5
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D x2-x>2 @ 2x-1<3+2x
® -2<9 €>%+32x—1
® 2x+1=0

@2x+3>x-1
2x—x+3+12>0
x+4>0




@3x+2§x—5

1
® y:§x—4

@ x24+2>-3x-4

@ 4x+2=x-5

®

x—1>—5+§x

1
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@3x+2<x-52x+7<0
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x+4<(x=2)+ (x+1) °lth
AelotH x—x-x<-2+1-4,-x<-5x>5
JelBg 5 & x gto] B 4 ik,
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12, HS v =2 3 B fARE 57] §15te] o] ot sty el

O x> 64000 @ x = 64000 @x > 64000

@ x < 64000 ® x <64000

1 9% 2000 9 ogolEz =y v A o] =2 64000 A
ol4ge] At




13. thg % QA5 y = —x + 39 THZ 9] Ho] ohd A7

® (-2, 5) @ (=3, 6) ® (5.2)

22
0(41) @

® 2% -(-5)+3°| B2
(-5, 2)x=y = -x+3 919 Ho] oprt.




14. A9ty =ax—b o 127 o 19
W ZS ™, a b F2E?
@ a>0,b>0 @a>0,b<0
® a<0,b>0 @ a<0,b<0

® a>0,b=0

yl

(71€7]) > 00|22 a > 0
(yZH)>00]B2 —b>0
S b<0




15.

71&717F 5 olal, y Aol 10 ¢ 2419

@ y=2x+10 @ y=-5x-10

@ y=5x-10 ® y=-5x+10

y=ax+b (71&7] :a, y3H : b) A
71&717k 5, y AHo] 10°0]B &
y=o5x+ 10




